EOC Constructed Response Practice #2

1. Given a sequence determined by a, = 2n+9, where a, is the first term:

a.
b.

C.

d.

What is the 300" term of the sequence? Show your work.

What is an expression in sigma notation for the sum of the first 300 terms of this
sequence?

What is the sum of the first 300 terms of this sequence? Show your work and
explain the approach you used to find your answer.

What is the sum of the 301* through the 700™ term of this sequence? Show your
work and explain the approach you used to find your answer.

2. Consider the function g(x)=—(x-2) +4.

a.
b.

C.

Describe the transformations that occur to the graph of f(x)= x? to get g(x).
Graph g(x) using the vertex and at least 3 points on one side of the vertex. Show

your work algebraically.
What are the domain and range of g(x)?

3. Consider the real valued functions f(x)=x* +5 and g(x)=3x-1.

a.

b.

What are the domain and range of each function? Explain how you found your
answers.

Find f(g(x)). Show your algebraic work and explain how you found your
answer.

What are the domain and range of f(g(x))? Show your algebraic work and
explain how you found your answer.

4. Consider the complex numbers g =5+ and » =2-3;.

a.

5. Use polynomial long division to find

What is 2g + 37 expressed in @+ bi form, where a and b are real values? Show
your algebraic work.

What is (g)(r) expressed in @+ bi form? Show your algebraic work.

What is q/r expressed in a + bi form? Show your algebraic work and explain
how you found your answer.

~23* 43 43+ 3-8
% +x=1

. Show your work

algebraically. Explain how you found your answer as if you were writing to a student
who was not in class when the concept was taught.

6. Consider the graph of the function /1 (x) = x* —2x’ —8x® + 21x, which has one

x-intercept at (-3, 0). Find all other zeros of the function algebraically. Show your
work and explain the approach you used to find your answer.
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